Best model for HELP J142824.505+350304.356 at z = 1.694 x?>=3.36
OPTx?=4.06 IRx?=2.13 threshold (OPT IR)=21.56 [um]

Flux [m])y]

. Stellar attenuated
2 = R Stellar unattenuated
10 - —— Dust emission
—— AGN emission
= Model spectrum
1 .
10 : ® Model fluxes
. [ Observed fluxes
10°
_ e :
10 1 ‘-VA/‘."-;"‘-"‘-"‘.—-«‘:( .
\"\
10—2 .
10°3
3 4
d074
= ] ==f=(Obs-Mod)/Obs
S ]
i) ]
T ]
] 0 [ A = | T N R R e, e A N e S S ———
o ]
) ]
2 ]
S ]
© -1 ; T CIGALE
()
(o'

10° 10! 102 103 104 10° A
Observed wavelength [um]



